

Bid Opening Report

Sheet ___ of ____

Date:	March 10, 2016	Time: 3:00pm	
Project: No: OCP No:	General Sanitary Sewel	r System Const., Repair aı	nd Testing
Staff present a	at Bid Opening: <u>Enn</u>	runvel Peret, E	I Soubbs
□ Engineer	's Opinion of Probable Proje udget:	ect Cost: \$	
	R NAME / Location		BID AMOUNT:
1. Envi	o Waste Service	, Group InclParts	\$ 1,017,700.00
2. V gr	Gineenhy and b	nsultan Corp. (Part 3)	\$ 143,001.00
3. Envi	rowarto Servisso	nsulting Corp. (Part 3) os Group Inc (Part 1)	\$ 212,110,00
1. Envil	to waste Service	s Group Inc (Parts)\$ 94,936.25
		ensulting Coup (Partz	
		on sulting Corp (Parts	
7.			\$
3.			\$
9.		на и достой подостой на се объекто в подостой на селения на применения н	¢
10.			¢
	d America beneated beautiful	backed Did Tatala and subject	the competition of the with a
NOTE: The BI Bids have bee		hecked. Bid Totals are subjec	t to correction after the
Signed:	690	Witness: \le	leia Taford
Name & Title:	Enmanuel Perez,	Et (syds)Name: Hellu	na Tabonda
	0/2016		0-2016



Prepared By: Enmanuel Perez, EI

Checked By: Fernando V. Gomez, PE, PSM



"The perfect place for industrial development"

BIDS EVALUATION SUMMARY

Project: ITB 2016-001 General Contract for Sanitary Sewer System Construction, Repair,

and Testing Services.

DR.: WS-0112

Bid Opening Date: 03/10/2016

Evaluation

Part 1: Repair and Testing Services

o EnviroWaste was the lowest bidder for all the items of this part.

Part 2: New Construction Services

 EnviroWaste was the lowest bidder for the total of this part and V Engineering was equal or lower on the following items only:

Item	Unit Price			
Item	EnviroWaste	V Engineering		
2-01 Furnish and Install Conflict	\$10,000.00	\$10,000.00		
Manhole, <6' Depth	Ψ20/000.00	4-27		
2-02 Furnish and Install Conflict	\$13,000.00	\$12,000.00		
Manhole, 6'-10' Depth	420,000.00	4/		
2-03 Furnish and Install Conflict	\$20,500.00	\$15,000.00		
Manhole, 10'-16' Depth	,	. ,		
2-29 Asphalt Pavement Overlay,	\$35.00	\$35.00		
1" Thick	1-3100			

Part 3: Cemex Sewer Extension (Project 1)

o EnviroWaste was the lowest bidder for this part.

For reference, see the attached bid proposals for each contractor. The unit prices were highlighted as follow: green for lowest, red for highest, and yellow for equivalent.

Recommendations

Based on the lowest bids, we recommend the Town to select as follows:

- For Part 1 and 2: We recommend one of the following:
 - $\circ \quad \text{Select EnviroWaste only.}$

or

- Select both, EnviroWaste and V Engineering, and utilize services of V Engineering, at the Town's sole discretion.
- For Part 3: We recommend the selection of
 - o EnviroWaste only.

PART 1: REPAIR AND TESTING SERVICES

ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE
1-01	Smoke Testing	LF	300	0.75	\$225.00
1-02	Sewer Main Cleaning And Tv Inspection, 8"-12"	LF	300	1.95	\$585.00
1-03	Sewer Main Cleaning And Tv Inspection, 15"-24"	LF	300	3.75	\$1,125.00
1-04	Sewer Lateral Cleaning And Tv Inspection From Main, <30'	EA	1	300	\$300.00
1-05	Sewer Lateral Cleaning And Tv Inspection From Main, >30'	LF	25	1	\$25.00
1-06	Sewer Lateral Cleaning And Tv Inspection From Cleanout, <30'	EA	1	275	\$275.00
1-07	Sewer Lateral Cleaning And Tv Inspection From Cleanout, <30'	LF	25	1	\$25.00
1-08	Mechanical Root Or Grease Removal, <12"	LF	300	5	\$1,500.00
1-09	Mechanical Root Or Grease Removal, 15"-24"	LF	300	8	\$2,400.00
1-10	Mechanical Tuberculation/Concrete Removal, <12"	LF	300	10	\$3,000.00
1-11	Mechanical Tuberculation/Concrete Removal, 15"-24"	LF	300	18	\$5,400.00
1-12	Point Repair, Sewer Line, 6"-10", <6' Depth	EA	1	4500	\$4,500.00
1-13	Point Repair, Sewer Line, 6"-10", 6'-8' Depth	EA	1	4750	\$4,750.00
1-14	Point Repair, Sewer Line, 6"-10", 6'-12' Depth	EA	1	6600	\$6,600.00
1-15	Point Repair, Sewer Line, 6"-10", 12'-16' Depth	EA	1	11000	\$11,000.00

PART 1: REPAIR AND TESTING SERVICES						
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	
1-16	Point Repair, Sewer Line, 12"-18", <8' Depth	EA	1	7650	\$7,650.00	
1-17	Point Repair, Sewer Line, 12"-18", 8'-12' Depth	EA	1	10000	\$10,000.00	
1-18	Point Repair, Sewer Line, 12"-18", 12'-16' Depth	EA	1	14000	\$14,000.00	
1-19	Point Repair, Sewer Line, 18"-24", <8' Depth	EA	1	14000	\$14,000.00	
1-20	Point Repair, Sewer Line, 18"-24", 8'-12' Depth	EA	1	21000	\$21,000.00	
1-21	Point Repair, Sewer Line, 18"-24", 12'-16' Depth	EA	1	27000	\$27,000.00	
1-22	Pipe Lining, 6"	LF	300	35	\$10,500.00	
1-23	Pipe Lining, 8"	LF	300	35	\$10,500.00	
1-24	Pipe Lining, 10"	LF	300	50	\$15,000.00	
1-25	Pipe Lining, 12"	LF	300	55	\$16,500.00	
1-26	Exploratory Excavation In Grass, <5'	EA	1	400	\$400.00	
1-27	Exploratory Excavation In Asphalt Or Concrete, <5'	EA	1	900	\$900.00	
1-28	Exploratory Excavation, >5'	VF	10	75	\$750.00	
1-29	Bypass Pumping, 6"-12" Sewer	EA	1	1000	\$1,000.00	
1-30	Cleanout Installation In Grass Area, <5' Depth	EA	1	600	\$600.00	
1-31	Cleanout Installation In Asphalt Area, <5' Depth	EA	1	750	\$750.00	
1-32	Cleanout Installation In Concrete Area, <5' Depth	EA	1	850	\$850.00	

	PART 1: REPAIR AND TESTING SERVICES					
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	
1-33	Cleanout Installation, >5' Depth	EA	1	1250	\$1,250.00	
1-34	Cleanout Installation, Open Trench	EA	1	500	\$500.00	
1-35	Realign, Grout And Seal Manhole Casting	EA	1	700	\$700.00	
1-36	Install Manhole Chimney Seal	EA	1	600	\$600.00	
1-37	Seal Visible Infiltration Through Manhole Wall, Bench, And Invert (Brick Manhole)	EA	1	900	\$900.00	
1-38	Seal Visible Infiltration Through Manhole Wall, Bench, And Invert (Concrete Manhole)	EA	1	800	\$800.00	
1-39	Repair Manhole Bench And Invert	EA	1	1000	\$1,000.00	
1-40	Replace Manhole Frame And Cover	EA	1	600	\$600.00	
1-41	Install Cementitious Manhole Liner For Precast Manhole	VF	10	250	\$2,500.00	
1-42	Install Cementitious Manhole Liner For Brick Manhole	VF	10	300	\$3,000.00	
1-43	Install Cementitious Manhole Liner With Polymeric Overlay For Precast Manhole	VF	10	300	\$3,000.00	
1-44	Install Cementitious Manhole Liner With Polymeric Overlay For Brick Manhole	VF	10	350	\$3,500.00	
1-45	Install Urethane Seal For Manhole	EA	1	650	\$650.00	
2-36	Bid Bond	%				
2-37	Performance Bond	%			\$0.00	
2-38	Payment Bond	%			\$0.00	
	Total					

	PART 1: REPAIR AND TESTING SERVICES							
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE			
	ion per project will be limited to 15% of the total of each 7.5% of the total of each assigned project.	ach assigne	d project. Mair	ntenance of traffic	per project will be			
Name of	Bidder		Signature of B	idder				

	BID PROPOSAL FOR BID NO. 2016-001 PART 2: NEW CONSTRUCTION SERVICES						
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE		
2-01	Furnish And Install Conflict Manhole, <6' Depth	EA	1	\$10,000.00	\$10,000.00		
2-02	Furnish And Install Conflict Manhole, 6'-10' Depth	EA	1	\$13,000.00	\$13,000.00		
2-03	Furnish And Install Conflict Manhole, 10'-16' Depth	EA	1	\$20,500.00	\$20,500.00		
2-04	Install New Sewer Manhole, Standard Precast Concrete, 48", <6' Depth	EA	1	\$7,000.00	\$7,000.00		
2-05	Install New Sewer Manhole, Standard Precast Concrete, 48", 6'-10' Depth	EA	1	\$10,000.00	\$10,000.00		
2-06	Install New Sewer Manhole, Standard Precast Concrete, 48", 10'-16' Depth	EA	1	\$17,500.00	\$17,500.00		
2-07	Install New Drop Connection Precast Concrete 48" Sewer Manhole	EA	1	\$7,500.00	\$7,500.00		
2-08	Install New Drop Connection Cast-In-Place Concrete 48" Sewer Manhole	VF	10	\$310.00	\$3,100.00		
2-09	Furnish And Install Sewer Main, 8" Or Less, <6' Depth	LF	300	\$90.00	\$27,000.00		
2-10	Furnish And Install Sewer Main, 8" Or Less, 6'- 10' Depth	LF	300	\$110.00	\$33,000.00		
2-11	Furnish And Install Sewer Main, 8" Or Less, 10'- 16' Depth	LF	300	\$170.00	\$51,000.00		
2-12	Furnish And Install Sewer Main, 10", <6' Depth	LF	300	\$100.00	\$30,000.00		
2-13	Furnish And Install Sewer Main, 10", 6'-10' Depth	LF	300	\$125.00	\$37,500.00		
2-14	Furnish And Install Sewer Main, 10", 10'-16' Depth	LF	300	\$195.00	\$58,500.00		
2-15	Furnish And Install Sewer Main, 12", <6' Depth	LF	300	\$120.00	\$36,000.00		

	BID PROPOSAL FOR BID NO. 2016-001 PART 2: NEW CONSTRUCTION SERVICES						
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE		
2-16	Furnish And Install Sewer Main, 12", 6'-10' Depth	LF	300	\$150.00	\$45,000.00		
2-17	Furnish And Install Sewer Main, 12", 10'-16' Depth	LF	300	\$240.00	\$72,000.00		
2-18	Furnish And Install Sewer Lateral, 4"	LF	300	\$150.00	\$45,000.00		
2-19	Furnish And Install Sewer Lateral, 6"	LF	300	\$175.00	\$52,500.00		
2-20	Furnish And Install Sewer Lateral, 8"	LF	300	\$200.00	\$60,000.00		
2-21	Furnish And Install Sewer Force Main, 6" Or Less	LF	300	\$150.00	\$45,000.00		
2-22	Furnish And Install Sewer Force Main, 8"	LF	300	\$175.00	\$52,500.00		
2-23	Furnish And Install Sewer Force Main, 10"	LF	300	\$215.00	\$64,500.00		
2-24	Furnish And Install Sewer Force Main, 12"	LF	300	\$260.00	\$78,000.00		
2-25	Furnish And Install Sewer Force Main, 15" Or More	LF	300	\$350.00	\$105,000.00		
2-26	Backfill (Previously Excavated Clean Fill)	СҮ	50	\$25.00	\$1,250.00		
2-27	Backfill (Imported Clean Fill)	СУ	50	\$40.00	\$2,000.00		
2-28	Asphalt Roadway Restoration	SY	400	\$25.00	\$10,000.00		
2-29	Asphalt Pavement Overlay, 1" Thick	SY	400	\$35.00	\$14,000.00		
2-30	Concrete Sidewalk Replacement	SF	20	\$15.00	\$300.00		
2-31	Concrete Curb And Gutter Replacement	LF	15	\$30.00	\$450.00		
2-32	Asphalt Driveway Replacement	SF	200	\$10.00	\$2,000.00		

	BID PROPOSAL FOR BID NO. 2016-001 PART 2: NEW CONSTRUCTION SERVICES						
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE		
2-33	Concrete Driveway Replacement	SF	200	\$15.00	\$3,000.00		
2-34	Replace Concrete Slabs And/Or Aprons	SF	200	\$15.00	\$3,000.00		
2-35	Sod Restoration	SF	200	\$3.00	\$600.00		
2-36	Bid Bond	%					
2-37	Performance Bond	%			\$0.00		
2-38	Payment Bond	%			\$0.00		
Total					\$1,017,700.00		

Mobilization per project will be limited to 15% of the total of each assigned project. Maintenance of traffic per project will be limited to 7.5% of the total of each assigned project.

Name of Bidder	Signature of Bidder

Bid prices stated in the proposal include all costs and expenses for labor, equipment, materials, contractor's overhead, and profit. Payment for this project will be based upon completion of this entire project as a unit price contract, in accordance with the Project Manual

BID PROPOSAL FOR BID NO. 2016-001 PART 3: CEMEX SEWER EXTENSION (PROJECT 1)

ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE
3-01	8" Dip Gravity Sewer Main (4-8' Depth)	LF	\$350.00	\$120.00	\$42,000.00
3-02	6" Dip Sewer Lateral	LF	\$60.00	\$100.00	\$6,000.00
3-03	Sewer Manhole	EA	\$1.00	\$8,000.00	\$8,000.00
3-04	Conflict Stormwater Manhole	EA	\$1.00	\$12,500.00	\$12,500.00
3-05	Modify Exist MH (Including Core Drill)	EA	\$1.00	\$2,000.00	\$2,000.00
3-06	Pavement Restoration	SY	\$130.00	\$35.00	\$4,550.00
3-07	Mobilization	%	15%	\$75,050.00	\$11,257.50
3-08	Traffic Control	%	7.5%	\$75,050.00	\$5,628.75
3-09	Bid Bond	%		\$0.00	\$0.00
3-10	Performance Bond	%		\$0.00	\$0.00
3-11	Payment Bond	%		\$0.00	\$0.00
Total					

Mobilization per project will be limited to 15% of the total of each assigned project. Maintenance of traffic per project will be limited to 7.5% of the total of each assigned project.

PART 1: REPAIR AND TESTING SERVICES

ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE
1-01	Smoke Testing	LF	300	100	\$30,000.00
1-02	Sewer Main Cleaning And Tv Inspection, 8"-12"	LF	300	6	\$1,800.00
1-03	Sewer Main Cleaning And Tv Inspection, 15"-24"	LF	300	6	\$1,800.00
1-04	Sewer Lateral Cleaning And Tv Inspection From Main, <30'	EA	1	350	\$350.00
1-05	Sewer Lateral Cleaning And Tv Inspection From Main, >30'	LF	25	500	\$12,500.00
1-06	Sewer Lateral Cleaning And Tv Inspection From Cleanout, <30'	EA	1	1000	\$1,000.00
1-07	Sewer Lateral Cleaning And Tv Inspection From Cleanout, <30'	LF	25	1500	\$37,500.00
1-08	Mechanical Root Or Grease Removal, <12"	LF	300	200	\$60,000.00
1-09	Mechanical Root Or Grease Removal, 15"-24"	LF	300	250	\$75,000.00
1-10	Mechanical Tuberculation/Concrete Removal, <12"	LF	300	250	\$75,000.00
1-11	Mechanical Tuberculation/Concrete Removal, 15"-24"	LF	300	350	\$105,000.00
1-12	Point Repair, Sewer Line, 6"-10", <6' Depth	EA	1	7500	\$7,500.00
1-13	Point Repair, Sewer Line, 6"-10", 6'-8' Depth	EA	1	10000	\$10,000.00
1-14	Point Repair, Sewer Line, 6"-10", 6'-12' Depth	EA	1	12000	\$12,000.00
1-15	Point Repair, Sewer Line, 6"-10", 12'-16' Depth	EA	1	15000	\$15,000.00

	PART 1: REPAIR AND TESTING SERVICES						
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE		
1-16	Point Repair, Sewer Line, 12"-18", <8' Depth	EA	1	18000	\$18,000.00		
1-17	Point Repair, Sewer Line, 12"-18", 8'-12' Depth	EA	1	20000	\$20,000.00		
1-18	Point Repair, Sewer Line, 12"-18", 12'-16' Depth	EA	1	25000	\$25,000.00		
1-19	Point Repair, Sewer Line, 18"-24", <8' Depth	EA	1	18000	\$18,000.00		
1-20	Point Repair, Sewer Line, 18"-24", 8'-12' Depth	EA	1	22000	\$22,000.00		
1-21	Point Repair, Sewer Line, 18"-24", 12'-16' Depth	EA	1	27000	\$27,000.00		
1-22	Pipe Lining, 6"	LF	300	100	\$30,000.00		
1-23	Pipe Lining, 8"	LF	300	110	\$33,000.00		
1-24	Pipe Lining, 10"	LF	300	120	\$36,000.00		
1-25	Pipe Lining, 12"	LF	300	130	\$39,000.00		
1-26	Exploratory Excavation In Grass, <5'	EA	1	2500	\$2,500.00		
1-27	Exploratory Excavation In Asphalt Or Concrete, <5'	EA	1	5500	\$5,500.00		
1-28	Exploratory Excavation, >5'	VF	10	7500	\$75,000.00		
1-29	Bypass Pumping, 6"-12" Sewer	EA	1	20000	\$20,000.00		
1-30	Cleanout Installation In Grass Area, <5' Depth	EA	1	2500	\$2,500.00		
1-31	Cleanout Installation In Asphalt Area, <5' Depth	EA	1	5000	\$5,000.00		
1-32	Cleanout Installation In Concrete Area, <5' Depth	EA	1	7000	\$7,000.00		

PART 1: REPAIR AND TESTING SERVICES						
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	
1-33	Cleanout Installation, >5' Depth	EA	1	10000	\$10,000.00	
1-34	Cleanout Installation, Open Trench	EA	1	1500	\$1,500.00	
1-35	Realign, Grout And Seal Manhole Casting	EA	1	3500	\$3,500.00	
1-36	Install Manhole Chimney Seal	EA	1	4500	\$4,500.00	
1-37	Seal Visible Infiltration Through Manhole Wall, Bench, And Invert (Brick Manhole)	EA	1	3500	\$3,500.00	
1-38	Seal Visible Infiltration Through Manhole Wall, Bench, And Invert (Concrete Manhole)	EA	1	3500	\$3,500.00	
1-39	Repair Manhole Bench And Invert	EA	1	4500	\$4,500.00	
1-40	Replace Manhole Frame And Cover	EA	1	2500	\$2,500.00	
1-41	Install Cementitious Manhole Liner For Precast Manhole	VF	10	5000	\$50,000.00	
1-42	Install Cementitious Manhole Liner For Brick Manhole	VF	10	5000	\$50,000.00	
1-43	Install Cementitious Manhole Liner With Polymeric Overlay For Precast Manhole	VF	10	5000	\$50,000.00	
1-44	Install Cementitious Manhole Liner With Polymeric Overlay For Brick Manhole	VF	10	5000	\$50,000.00	
1-45	Install Urethane Seal For Manhole	EA	1	3000	\$3,000.00	
2-36	Bid Bond	%				
2-37	Performance Bond	%	2%	\$1,066,450.00	\$21,329.00	
2-38	Payment Bond	%	2%	\$1,066,450.00	\$21,329.00	
	Total					

PART 1: REPAIR AND TESTING SERVICES							
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE		
Mobilization per project will be limited to 15% of the total of each assigned project. Maintenance of traffic per project will be limited to 7.5% of the total of each assigned project.							
Name of	Bidder		Signature of B	idder			

	BID PROPOSAL FOR BID NO. 2016-001 PART 2: NEW CONSTRUCTION SERVICES						
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE		
2-01	Furnish And Install Conflict Manhole, <6' Depth	EA	1	10000	\$10,000.00		
2-02	Furnish And Install Conflict Manhole, 6'-10' Depth	EA	1	12000	\$12,000.00		
2-03	Furnish And Install Conflict Manhole, 10'-16' Depth	EA	1	15000	\$15,000.00		
2-04	Install New Sewer Manhole, Standard Precast Concrete, 48", <6' Depth	EA	1	15000	\$15,000.00		
2-05	Install New Sewer Manhole, Standard Precast Concrete, 48", 6'-10' Depth	EA	1	18000	\$18,000.00		
2-06	Install New Sewer Manhole, Standard Precast Concrete, 48", 10'-16' Depth	EA	1	20000	\$20,000.00		
2-07	Install New Drop Connection Precast Concrete 48" Sewer Manhole	EA	1	20000	\$20,000.00		
2-08	Install New Drop Connection Cast-In-Place Concrete 48" Sewer Manhole	VF	10	1000	\$10,000.00		
2-09	Furnish And Install Sewer Main, 8" Or Less, <6' Depth	LF	300	225	\$67,500.00		
2-10	Furnish And Install Sewer Main, 8" Or Less, 6'- 10' Depth	LF	300	250	\$75,000.00		
2-11	Furnish And Install Sewer Main, 8" Or Less, 10'- 16' Depth	LF	300	275	\$82,500.00		
2-12	Furnish And Install Sewer Main, 10", <6' Depth	LF	300	250	\$75,000.00		
2-13	Furnish And Install Sewer Main, 10", 6'-10' Depth	LF	300	275	\$82,500.00		
2-14	Furnish And Install Sewer Main, 10", 10'-16' Depth	LF	300	300	\$90,000.00		
2-15	Furnish And Install Sewer Main, 12", <6' Depth	LF	300	250	\$75,000.00		

BID PROPOSAL FOR BID NO. 2016-001 PART 2: NEW CONSTRUCTION SERVICES						
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	
2-16	Furnish And Install Sewer Main, 12", 6'-10' Depth	LF	300	275	\$82,500.00	
2-17	Furnish And Install Sewer Main, 12", 10'-16' Depth	LF	300	300	\$90,000.00	
2-18	Furnish And Install Sewer Lateral, 4"	LF	300	1200	\$360,000.00	
2-19	Furnish And Install Sewer Lateral, 6"	LF	300	1500	\$450,000.00	
2-20	Furnish And Install Sewer Lateral, 8"	LF	300	1600	\$480,000.00	
2-21	Furnish And Install Sewer Force Main, 6" Or Less	LF	300	250	\$75,000.00	
2-22	Furnish And Install Sewer Force Main, 8"	LF	300	300	\$90,000.00	
2-23	Furnish And Install Sewer Force Main, 10"	LF	300	310	\$93,000.00	
2-24	Furnish And Install Sewer Force Main, 12"	LF	300	320	\$96,000.00	
2-25	Furnish And Install Sewer Force Main, 15" Or More	LF	300	400	\$120,000.00	
2-26	Backfill (Previously Excavated Clean Fill)	CY	50	50	\$2,500.00	
2-27	Backfill (Imported Clean Fill)	CY	50	65	\$3,250.00	
2-28	Asphalt Roadway Restoration	SY	400	18	\$7,200.00	
2-29	Asphalt Pavement Overlay, 1" Thick	SY	400	35	\$14,000.00	
2-30	Concrete Sidewalk Replacement	SF	20	40	\$800.00	
2-31	Concrete Curb And Gutter Replacement	LF	15	21	\$315.00	
2-32	Asphalt Driveway Replacement	SF	200	18	\$3,600.00	

Name of Bidder

BID PROPOSAL FOR BID NO. 2016-001 PART 2: NEW CONSTRUCTION SERVICES						
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	
2-33	Concrete Driveway Replacement	SF	200	18	\$3,600.00	
2-34	Replace Concrete Slabs And/Or Aprons	SF	200	200	\$40,000.00	
2-35	Sod Restoration	SF	200	10	\$2,000.00	
2-36	Bid Bond	%				
2-37	Performance Bond	%	2%	\$2,681,265.00	\$53,625.30	
2-38	Payment Bond	%	2%	\$2,681,265.00	\$53,625.30	
Total					\$2,788,515.60	

Mobilization per project will be limited to 15% of the total of each assigned project. Maintenance of traffic per project will be limited to 7.5% of the total of each assigned project.

Signature of Bidder

Bid prices stated in the proposal include all costs and expenses for labor, equipment, materials, contractor's overhead, and profit. Payment for this project will be based upon completion of this entire project as a unit price contract, in accordance with the Project Manual

BID PROPOSAL FOR BID NO. 2016-001 PART 3: CEMEX SEWER EXTENSION (PROJECT 1)

ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE
3-01	8" Dip Gravity Sewer Main (4-8' Depth)	LF	\$350.00	\$225.00	\$78,750.00
3-02	6" Dip Sewer Lateral	LF	\$60.00	\$200.00	\$12,000.00
3-03	Sewer Manhole	EA	\$1.00	\$10,000.00	\$10,000.00
3-04	Conflict Stormwater Manhole	EA	\$1.00	\$10,000.00	\$10,000.00
3-05	Modify Exist MH (Including Core Drill)	EA	\$1.00	\$3,500.00	\$3,500.00
3-06	Pavement Restoration	SY	\$130.00	\$25.00	\$3,250.00
3-07	Mobilization	%		\$15,000.00	\$15,000.00
3-08	Traffic Control	%		\$5,000.00	\$5,000.00
3-09	Bid Bond	%		\$0.00	\$0.00
3-10	Performance Bond	%		\$2,750.00	\$2,750.00
3-11	Payment Bond	%		\$2,750.00	\$2,750.00
Total					\$143,000.00

Mobilization per project will be limited to 15% of the total of each assigned project. Maintenance of traffic per project will be limited to 7.5% of the total of each assigned project.